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2از  1صفحه  20/8/1397: تاریخ هفتمپایه: 

: 1پاسخ سؤال 
نمره( 52/0) 2الف( 

نمره(  52/0) -33ب(   27 30

 نمره( 52/0)ج( منفی 

nد(  6 , نمره( 52/0) 1 , , , ... 5 11 17 23

6 6 6

:2پاسخ سؤال 
نمره( 52/0)نادرست ( د نمره( 52/0)ج( درست  نمره( 52/0) نادرستب(  نمره( 52/0) درستالف( 

:3پاسخ سؤال 

  1گزینة الف(   3 2 1 نمره(   52/0) 6

)2گزینة ب(  ) ( ) ( ) ( )         3 3 0 3 3 نمره(   52/0) 9

  نمره( 52/0) 1گزینة د(     نمره( 52/0) 2گزینة ج( 

3 1 5

4 4

:4پاسخ سؤال 

1 1 42 44
1 2 21 24
1 3 14 18
1 6 7 14
2 3 7 12

)هرمن 0/52(

)هرمن 0/52(

)هرمن 0/52(

)1(  ن    )2(  ن    )3(  ن        م
 
 
 
 
.دراد  اس 2  ن             

)هرمن 0/52(

 :5پاسخ سؤال 
راهب د رسم شکل

)هرمن 0/5(

)هرمن 0/5(

/ /  0 5 0 5 ل    م     =    اد    3 )هرمن 0/25(

  1 1 ل    م     =    اد    4 )هرمن 0/25(
 ا ا ت ا م  4 3 12 )هرمن 0/25(

 :6پاسخ سؤال 
   ساد مسئلة راهب د  ل 

( )( )( )...( )    1 1 1 1 11 1 1 1
2 3 4 100 2

 2
3
 3
4

...  99  1
100 100

)هرمن 0/52(

)هرمن 2 /0(

:7پاسخ سؤال 
 نمره( 52/0)    6 5 ) نمره( 52/0) 1 )   2 3 دمای ه ای  ه ا  5

 3 دمای ه ای  ب  ز

  نمره( 52/0)  4 2
2

)نمره( 52/0)  ) ( )  


3 1
2

م انگ   

:8پاسخ سؤال 

x ( y) y( x) x xy    2 1 3 2 2 2 y xy 3 2 x y 2 3

    

)هرمن 0/52(

    

)هرمن 0/52(

  

)هرمن 0/2(

/ / ...

25 11
22 2 27 2 272727
30
22
80
77
3
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 :9پاسخ سؤال 

x y x x y x y       4 3 7 4 2 6 7 6



)هرمن 0/2(

x , y ( ) ( )          1 3 7 1 3 6 7 3 6 4

      

)هرمن 0/52(

)هرمن 0/52(

 

 :10پاسخ سؤال 
 نمره( 52/0)اش ب اب  صف  است.  الف( ج ع ه    د با    نه

    ب(  
: ( a b) a b  2 2 4 2    )هرمن 0/52(

 

: ( a b) ( a b) ( a b) a b          4 2 2 2 6 3 2 12    م6

      

)هرمن 0/52(

)هرمن 0/52(

 
 


